R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, TX-4248

Taylor
Building

Products, Inc.

631 N. FIRST ST.
WEST BRANCH, MI 486461

TIMBERLINE DELUXE

OPAQUE FIBERGLASS SINGLE DOOR

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Taylor Fiberglass door described herein complies with the 2006 Infemational Residential Code
(IRC]. Sections R301 & Ré13 and the 2004 International Building Code {IBC}, Sections 1405.12,
1609, 1714.5, 2403 and 2404 {including Texas revisions) subject to the following conditions:

1.

2.

Anchors
material

shall be as listed and spaced as shown in the details. Anchor embedment to base
shall be beyond wall dressing or stucco.

When used in areas requiring wind-bome debris protection (Seaward and Infand | areas),
this product complies with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC
and does not require impact protection. This product meets missite level "D" and includes
Wind Zone 4 as defined in ASTM E 1994,

Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject fo further engineering analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typlcal elevations, design pressures & general notes

Door panel details

Horizontal cross sections

Vertical cross sections

Frame anchoring

O jen]i | oidd i —

Bill of materials and components

37.50" MAX,
OVERALL  —=
FRAME WIDTH

81.75" MAX. OVERALL FRAME HEIGHT

- INSWING -
- QUTSWING -

B0.25" MAX. OVERALL FRAME HEIGHT

1

onaEY
O

e ()
AR LS

e
.

37.50" x 81.75"

+100.0

-100.0

-100.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33585

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Preparsd By:

TEXAS BOARD COF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

n
=
22
o | 5
Q .2
8 Z0LJ
= | 85
w) T
=2 |3 S5
I"‘Q - -_lua
i 7
0
(Y] hd
o |9 I2x
e T o €R
o ]
ol &
a e Sy
e < o
[ .
&
]
=z
O
\2]
|
I
p
<L
a
o
=
oaTE: 9/27/12
scaLE:  NLT.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4248

sHEET 1 oF 6

© 2012 R.W. BUILDING CONSULTANTS (NG,



Ri\A - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, 2

s 3_5" e et

—— 0.4"

EXTERIOR
- 046" e
-1 U - :' "d ‘ -. i;"‘ .‘ R ." 4 .q.: h .A '.'-:' . .'b“'
._g ; == -._ ,-'"‘ ' '.‘., : '4:,', 4 = == -.‘:b' . : - .
‘ - == g;;g a- . . '-_- .: -.. P :. T _-'.
: Al bl A_A S < [ . A ow
\
HINGE STILE (LVL) INTERIOR
CAP (WOOD) LATCH STILE {LVL)
/ 1"\ HORIZONTAL CROSS SECTION
\2/
35.75" PANEL
WIDTH
q
N, T &
&
= in
% uy
"
g X A T DEADBOLT: SEE TABLE

PASSAGE LOCK: SEE TABLE

. DOOR PANEL
Tayior Door

w/ Mastergrain Fiberglass skins

\

CAP (WOOD)

KNOB:

KWIKSET SIGNATURE SERIES

KWIKSET DEADBOLT: KWIKSET SIGNATURE SERIES (980)
KNOB: "F" SERIES
SCHLAGE DEADBOLT: “B" SERIES

TOP RAIL

X(COMP.)

EXTERIOR

1 o
. ., . :P. ;
. E.- -'. =

© o 4
aer :'..‘. .

’ '-.P' .b :..
- - o 4

Fv' .: v
'.- l L

. s .

et

[/
INTERIOR
Vi

R/ A i

FOAM CORE ST
(POLYURETHANE - S AN
L9PCEMING ~~_||":: .0~
a 1‘ '..“;...
ST

e v 4.
FIBERGLASS SKIN .

(0.075" MIN. THK.} —\ AN

BOTIOM RAIL
(COMP.)

/" 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vairico FL. 33585

Phone No.: 813.850.8197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F-11852

il
S| g
et =)
QW e
L RE
YU
5 {9 «
AN
o] b=
g £
p
mn
)
=z
O
]
ol
o
o
<
a
O
Z
DATE: 9/27/12
SCALE:  N.T.S.
DWG. BY: JK
CHIC. BY: LFS
DRAWING NO.:
TX—4248

SHEET _2 oF _6

© 2012 R.W. BUILDING GONSULTANTS [NG,



"IN SANVYLTINSNDOD SNIQUHNE MY 2 108 @

ZGell—3 # NOLVNLSIOIYN J0 ILvDIdNN3D @ SNOISIAIY =96 TON
SHITIANIONT TYNDISSAA0Hd 40 guv0e SvXil SNOLLIFS SSOHT TYINOZIMOH m wix m % 6_
Z618'859°C18 ToN auoyd : 13
SBGTE 14 OOLIDA OCZ X08 ‘O'd \S.@. ‘ATHNISSY HO livd NIZ a Q &
"ONI ‘SINVLINSNOD ONIQTING Nl B 3_
400a SSYT1oy3gl4 o IBlRgR
SZiv0oL# “I'd Svxal JOIAYL il m gly|2 ki
‘T'd WPIIYDS 3 Uopukt  :AQ peJndesd sjULLINOOg 113NA0yd Ik w 5|& b
w ¥ R
£ ._ e ,..«M
.ﬁ,u i
c“ri .,u/ﬁv o.u..\?u({w Q,.v.\.\\.mm
.‘.m.....v .,Mugv B ...w nmu\w.aw_
LI A4 S fres?
m._ LOIANHDGS 4 2037_>u w
@ m,. g & mm_
o ¥ o e S e o
ﬁmﬁ.w.,.w.,.....n.,.,&wba
MVl 40 2o
RSSTEACRSas
™

0P
!

0.15"

s
\ T
Tl

/"3 "\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing
also approved

W

40

EXTERIOR
INTERIOR

-

0.15"
] e C'SINK
(TYP.)
7
-

m HORIZONTAL CROSS SECTION

\y inswing shown - outswing
also approved

¥
T ] \\

EXT, SHEATHING \

®

4
4
ELEVATION (X

€ ‘BMP 6p-8pER-X1\TT0Z Sexa)\sBumesq 5amy "a\E/9T JA\00LT - T09T [oud\siaplod Paloidispelond - iy



TON] HANVYLINSNDOD 9NIgHNE MY Z2 L0002 @

ZoBil—d # NOLUVUISIOSN H0 ALVOILIENID SNOISIATY i

SHAANIOND “WNOISSII0Md 40 QMYOB SYX3L SNOILLO3S SSONT TVILLMIA Ad 3Alvd {ON m slxlo o 6_
crege .- " i 3
SBSEE 14 conion OEZ %08 -O'd g@ "K1@N3SSY d0 Luvd N = IR
“ONI *SINVLINSNOD ONIGTING N 4_
400Q_SSv19438ld ol |8|Elg &

€ZTi¥0i# "3'd SVXEL HOTAVL g m | m m
Td "IPiWYDS "] uopufq g peupndeid sjuswWNaog 19N40Hd = m m & =

EXTERIOR

W Qutswing configuration

INTERIOR

CONCRETE /3™ VERTICAL CROSS SECTION

/— EXT. SHEATHING

{*dAl)
(=) S
S0
L S S S S S—"— N NRV
wi O & 5
= £ O
O Ul > 5
o Wi & (1 Cd
[T} L1k Lul=
S alé vlg
o p<d =] ald
i g
& g Q<
|32 (S)Pa)
3es 3
S |28 iz
rre—— Wz &l 2
/ T R R >|£D S5
/ (a7
|y m
{ y & |
3 Q =
: ® :
> Lid ELS
A [ o
& < o &
@]
Qo =
Q O
= O

RSB INNE

EXTERIOR

m VERTICAL CROSS SECTION

\U Inswing configuration

INTERIOR
WOOoD
RETE

b 'BMD"6H-8bTH-XI\ZT0T Sexa\SBmeld Damy "a\EL9T 4d\00/ T - T09T [oud\siapio4 paloidispalond - vy



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, 5

10.5" FROM
TOP OF FRAME

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS

AND THE CLADDING BEING USED (TYP}.7
7

T— 30" 0.C. (TYP) e

-.Q}'

™1 SEE HINGE
DETAIL (TYP.)

sty

HINGE JAMB

FRAME —|

\

o
[TYP)

TYP. HEAD
& JAMBS

T OUTSWING/ADA ONLY
TYP. SILL

)

6
(TP}

14" MAX
O.C.{TYP.)

0000

FLOOR SUBSTRATE MATERIAL
CONCRETE {MIN. 3000 PSi)

WOOD (G >= 0.42)

FRAME ANCHORING
X

®/ﬂJ EE— 40.5" e

INSWING
ONLY

STRIKE JAMB

SR uj
ﬁ,:.;a.,""v: P iy n.g
C:E;WQ:}-?: ‘E::"‘E;' gg gﬂ
gt 31’;&: E - n
gav iR £ 8 B2
SN A u o &7
Fot b 19 ot Ehy bl
Gty bl TRe .
Al T i 5 o 3
(Zu_»;. T o 3a -
NS TS R N £F Scg 29
oA, iGiE s A 4 g%
G B2 et S p> o é
1 s Rl )| Qe gh
2‘{'3* ®il ey 5 an x5
Weipdel™ @ OoNg oy
v % 8=z b
[ émg o8
8 Sgf P
E [ gs
m
2 § &
g gg
E &K B
8
[a]
A\
)
o 10 5| ¢
—_— o &=
s S
o X
QW o O
=< (5 2
S % s
] e 3 Ly
% 0t =
-
b [+4
I;I § o
LATCH & DEADBOLT DETAIL g %
%
\
(18) ‘ 0
%
O kg :
e L] il |
Bie z
o H skl ™ @
o
\
\
HINGE DETAIL Ll
e —————_——————;————S '-(-.
fa
O
b
owE: 9/27/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4248
SHEET _ 5 oF _6

© 2012 R.W. BUNLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, 6

BILL OF MATERIALS
NEM#  { DESCRIPTION MATERIAL
B 2X FRAMING (G >= 0.42) WwOOD
C 1/4" MAX, SHIM SPACE -
J #10 X 3 PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOQD SCREW STEEL
P 1/4" PFH ELCO OR IT'W CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1 JAMB - FINGERJOINT PINE WwOOD
2 JAMB - POLY FIBER POLY FIBER
7 WEATHER STRIP {Q-LON]) FOAM
8 DOOR BOTIOM SWEEP VINYL
18 4" X 4" HINGE STEEL
19 #10 X 3/4" PFH W$ STEEL
#10 X 3/4" PFH WS (Wood Jamb)
21 #10-24 X 5/8" M.S. w/ 1/2" STAFAST INSERT P/N D102413 {Wood or Poly Fiber Jamb) STEEL
#10-24 X 5/8" M.S. w/ 3/8" STAFAST PRONG TEE NUT (Wood or Poly Fiber Jamb)
23 LATCH STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
26 DEADBOLT STRIKE PLATE STEEL
27 REINFORCEMENT PLATE STEEL
30 INSWING THRESHOLD ALUM/COMP
31 QUISWING THRESHOLD ALUM/WOQD
32 QUISWING THRESHOLD ALUM/WOOQOD
33 ADA THRESHOLD ALUM
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR i
CONSTRUCTION DETAILS
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required to ensure the "MAX., ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

- JANCHOR |-

W

TAPCON® | /¥ 1-3/4 2-1/2" 3"
ELCO - ) - -
ULTRACON®| ¥/ 1-3/4 1 3

1.25"

4.56"

f

@ POLY FIBER JAMB

4.5¢"

!*-— 2.44" —-—l—-— 2,13 —=

0.75"

g5

]

1.2

J

i

234" \[

( : ) WOOD JAMB

22—

1.25"

4.52"

INSWING THRESHOLD
By Imperial

e 4, 56"

e 2,537 ]

31 OUTSWING THRESHOLD
QOSH by DLP

544

1.25"

32 OUTSWING THRESHOLD
By Combo

";\7‘-""«3.,’*.,"‘;3 A
SEOF S

e
b

.
o

o o

e =]
N
)

- 2,5

27 REINFORCEMENT PLATE

16 GA.
{Inswing only}

- 4.56"
M
(:: ) ADA SiiL

S

tyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: B13.659.9187
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION § F—11852

Documents Preparad By

5 | e
S 25
bt et
P MHS
23 s I8
%3 |8 33
=~
e |3 &
2 |4 5o
vy I 2 =g
5 xj O
3 o
S £
o o
S
%)
v
=
o
0
|
o
s
S
O
z
oaTE: 9/27/12
ScAE:  N,T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4248

SHEET 6 oF B

© 2012 RW, BUILDING BONSULTANTS NG,



